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(a) blue AND white
Colours may be given in either order.
Accept unambiguous abbreviations or recognisable

misspellings.
(b) 600
(c) 75
Task 3

(a)  Answer in the range of £43 to £44 inclusive.
1

(b)  Explanation which implies that Gary has an amount greater than £25 but less
than £27 .50 and that Pip has £35+1, so that their total is greater than £60, eqg

+  ‘Gary has 26 Pip has 357,

+ The chart shows that Gary has 2 and s and Pip has 3 and a half, so that's
over 60 pounds’;

+ “The whole symbols together make 50 and then it's 2 halves and Pip has
half and Gary has more than half.

Do not accept vague or arbifrary answers, eg
* ‘By the number of coins’;
+ ‘There are 5 ten pounds and 2 halves’;

+ ‘A coin = 10 pounds and a broken coin = a fraction of a
coin so a fraction of the money’.




